Bellringer #31
Randy, Tavian, Blair, and Chance can’t decide the locations of the three subatomic particles of an atom.  Help sort out who is right.

- 
Randy says that protons and electrons are located in the nucleus while neutrons are found in valence shells.
-
Tavian insists that electrons are in valence shells while protons and neutrons are in the nucleus

- 
Blair exclaims that protons and electrons are found in valence shells and neutrons are in the nucleus

-
Chance argues that electrons and neutrons are in the nucleus but protons are in valence shells.

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

Gavin is studying C-12, a stable isotope of carbon.  The atomic mass of this isotope of carbon is 12 amu.  How many protons does an atom of C-12 have?
1.
Find carbon on the periodic chart.

2.
Notice that the atomic number of all isotopes of carbon is    6    .

3.
The      atomic number      is     =     to the          number of protons      .

4.
Therefore, C-12 has     6     protons.

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

Jacob is comparing nitrogen-13 and nitrogen-15.  What can Jacob tell us about the subatomic particles in these nitrogen isotopes?
1. 
Isotopes, by definition, are atoms of the   same   element which means they have the same

     atomic number      .

2.
Atomic number, by definition, is the number of    protons     .

3.
Isotopes differ from each other in   mass  . 

4.
Mass, by definition, is the   sum   of the number of     protons     plus the number of    neutrons     .

5.
Jacob knows that in a neutral atom the number of    protons     equals the number of    electrons   . 
6.
Therefore, Jacob can tell us that nitrogen-13 and nitrogen-15 have the   same  number of 


   protons     and    electrons   , but the nitrogen-15 isotope has   two   more    neutrons    than the

 
nitrogen-13 isotope.

